Table A1l: Analysis of missing values

Answer SWB Do not Answer SWB

Mean Sample Mean Sample Difference
Log(Income) 12.009 16008 11.871 5767 0.138%**
Schooling 9.967 16008  9.852 3731 0.114
Age 42.564 16008  27.886 5767 14.677***
Household Size 3.61 16008  4.424 5767 -0.814%**
Male 0.33 16008  0.571 5767 -0.2417%%*
Unemployed 0.043 16008  0.039 3756 0.004
Inactive 0.409 16008  0.439 3756 -0.030%**
Married 0.601 16008  0.285 5767 0.3167**
Disability 0.067 16008 0.06 5760 0.007
Medical Treat. 0.301 16008  0.158 5767 0.143%**
Accident 0.214 16008  0.163 5767 0.051%**
Noise 0.163 16008  0.158 5767 0.004
Air Poll. 0.167 16008  0.156 5767 0.011
Water Poll. 0.073 16008  0.068 5767 0.005
Trash Poll. 0.142 16008  0.136 5767 0.006
Robbery 0.309 16008  0.301 5767 0.008
Poor surveillance 0.316 16008  0.319 5767 -0.003
Alcohol 0.28 16008  0.286 5767 -0.006
Trafficking 0.145 16008 0.14 5767 0.005

Notes: t-test corresponds to the difference in means for continuous variables and difference in

proportion test for dummy variables. *p < 0.1, p < 0.05,*** p < 0.001.



